PYQs Class Notes

\ PART-3 4

( Parmar Sir)

Click on the icon.


https://t.me/parmar_ssc
https://youtube.com/@parmarssc9894

Which of the following sports does NOT have its apex national governing body
headquartered in New Delhi?

Frafafea & ¥ e A & wdfea T ot P &1 e W
Rt & i 2

1. Badminton Association of India

W Volleyball Federation of Indi
3. Athletes Federation of India
4. Hockey India
1. 9T Ao §

e v HQ: Chennai, Tamil Nadu

4. grrsfEam

HQ of All India Chess Federation is also here

What was the rural literacy rate in India, according to the 2011 Census?

2011 FY STAITOTAT & HTHR, HRA # ATHIOT FIERAT &I 741 o2

1. $7.00%
%6.77%
3.69.00%
4.67.77%

Which of the following places of India can have maximum
perature diffe b the day and night?

e & fefaf@a & & B e W T F aAE H

Fftwan o & wwar §7

et & gk Diurnal: showing a periodic alteration of
Jronmar e condition with day and night

Diurnal range of temperaturey,
Annual range of temperature |,
‘Range of rainfall {,

-Diurnal range of temperaturef
-Annual range of temperature{

*Range of rainfall -Discarded rituals and sacrifices

vt \/ Monotheistic Cworship of single God)
Which Rajput princess belonged to the Bhakti tradition of Medieval India, whose
songs were devoted to Lord Krishna?

: - . God has either form or it’s formless
e @ o JaFAN TSR TR A ST W @ d@fta of,
Rred aff srare oo F FA 42

1. Muddupalani

Main Features of Bhakti Movement

2. picka Mahadevi Saguna Nirguna
Mirabai
4. Lal Ded J
g i | Shiva Vishnu
3, ahvras
4. 1 25 Followers ‘l l,
Bhakti Movement Atma is part of Brahman Nayanars  Alvars
K 5 1st female alvar: Andal
. ViBhi : Cprofounder of Bhakti
Vishishtadvaita Ramanuj Acharya Propounder From P 5
- Dvaitadvaita/Bhedabhed Nimbark Acharya  North-india Movement
* Dvait = Dualism Madhva Acharya (South-India)
»Shuddhadvaita Vallabhachairya - SurdasKrishna
- Advaita Sri Shankaracharya -Tulisidas -+»Ram
Non dualism Believed:
Believed: - This life and world is a myth
+ The world is realistic - Didn’t believe in idol worship

- Idolistic worship



Behind the cornea, there is a dark muscular structure called the

@ T 3 O, Uer Tl Ao GUaeT A E R Feramardl Control len:

rectus medialis

1. retina

2 pupil ciliary body
[ iris terior chamb /
2 lons posterior chamber . ¢

anterior chamber .

Cor_nca nodal point
-Outermost part anterior pole ——
" Causes refraction of light Yo’
-Used in eye donation

cornea -~

iris 7/

“retina

Aqueous humour Aqueous humour
. . “choroid
- Provides nourishment to cornea Pupil i\

* Maintains eye pressure
Eye: Click images/formation

s

~Dark muscular structure it qlso determines colour of the eye

-Controls the size of pupil

‘Pigmentation
‘Pupil
.To control the amount of light entering the eye

Lens
*focuses the light ray on the retina

Retina
« It is the spot where image is formed
- Here optical energy is converted to electrical energy

Blind Spot
-Optic nerves meet retina

- No image is formed here

‘Power of Accommodation
-Eye can change focal length Csituation based) —s> Ciliary muscles

- Least distance of distance of distinct vision: 25 cm

Defects of Tye

Myopia/Near Sightedness
- Far object not visible clearly “Focal length decreases
+ Correction: -ve power lens->Concave lens > and Power increases

-Image is formed in
front of the retina

‘®

ARMA

vitreous body

fovea

E posterior pole

~ optic nerve

Connected to brain
Cbrain sees the
object not the eye)



&

Hypermetropia/Far Sightedness - Cannot see nearby objects
-Image formed behind the retina ARMA
+ Light focuses behind the retina Hypermetropia
- instead of focusing on the retina
+ Correction: +ve lens->Convex lens
- Usually occurs above 40 yrs

Correction: Convex lens

‘Presbyopia
- Lens hardens with age—>Loses flexibility
- Age: 55+ Presbyopia
- Correction: Concave + Convex lens
(Bifocal lens)

Glaucoma/Trachoma

-Both caused due to increase in eye
pressure

- Glaucoma n.s hercdnf.arg.g ——7_> Not curable

*Trachoma i3 bacterial infection

- Tonometry: to measure your eye pressure Concave lens
Colour Blindness

- It is hereditary

* Retina made of cone cells and rod cells
Convex lens
Not present in colourblind

people

Identify whether the given statements about ionisation energy are correct or incorrect.

TETTS o HTEARIT Foil & TR A U 1T HU Hel ¢ a1 ToreT |

Statement A: The ionisation energy of an atom is the amount of energy that is required to remove
an electron from a mole of atoms in the gas phase.

Statement B: The ionisation energy increases from top to bottom in groups and decreases from
left to right across a period.

e A: Rt TTHATO] 1 SIeAEROT At it 1 aF AT ¢ S N 0T F AT & v Ao F
T FAFCIA I FoAhTeal & (oIT HTaRT® gret 1

FUT B: FIAAFIOT FATHHEI A T A A1 7 wgelt § 3N v raflr F a0 ¥ 0w v
1. Pnly Statement B is correct
Only Statement A is correct
3. Both Statements A and B are correct
4. Both Statements A and B are incorrect

. ¢~ gain enthalpy T b 0
lonisation energy op to bottom — Decreases

Atomic Size | Top to bottom increases . e-gain affinity Left to Right — Increases
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*
The Sino-Indian border is divided into how many sectors? ARM A
. ARE-eher AT Y e Ferel A aier T 2

L2 * Line b/w India and China: Line of Actual Control (LAC)

v Vool

Not agreed  mMcMohan Line Johnson Line

— Disputed border
B Disputed territory
Nocefined  Aksai Chin 3
S e boundary Adminstered by China

by Pakistan : CHINA

Kashmir Western sector

Adminstered by India

. Tibet
Middle  40n0mous Region Tastern sector

sector

Chinese maps label this

New Delhi =

INDIA

- Two new districts now in Arunachal
(2024): Keyi Panyor and Bichom

B The Lucknow Pact was signed in by Congress and the Muslim League to
work in alliance for representative government.
sfafafll TER & fT et & 1 FT & fo S AT e AT G@RT
# TS FAE W g e e
\1(;916
2.1918
3.1920
4.1914
+ 5th Generation: Al and Quantum Computing
Which among the g of Comp used vacuum tubes? .
. — -1 Byte = 8 bits
Fogey # farafaia diftal & & Rrasl de @ 1 3w e am “1KB=1024 B
fei - Use of IC (integrated circuits) N )
M Pl ’ AMB=1024KB  Basic Unit: Qubits
papissiyln, wir= > Use of Microprocessors -1 GB = 1000 MB
L -1 nibble = 4 bits
Use of Transistors



states that the rates of diffusion of gases are inversely proportional to **
. the square roots of their densities under similar conditions of temperature and
pressure. ARMA
e @ R araeeT 3 gara A e ARt A et & v
PN 0% T & T > SAHATTIA St 81
«Graham s La
2. Tyndall's Law
3. pascal’s Law Kepler's Laws
4. Kepler's Law o
First Law Second Law Third Law
All planes move around the sun in elliptical A planet sweeps out equal areas The square of the orbital period of a planet is
r| MZ orbits with the sun at one of the foci in equal intervals of time proportional ta'the cube oftbe orbit's
— ] — semi-major axis
N M
o L
r = rate of diffusion
M= Molar mass 2
Law of Orbit Law of Area CES

T = Time to complete orbit
a = Length of semi-major axis

“Law of Time Period

-Homogenous mixture/solution does not

scatter light
C— — u
- Heterogenous mixture/suspension scatters

light
LIGHT BEAM: NOT VISIBLE VISIBLE VISIBLE . . .
S . w=-m & - -
EXAMPLE: WATER MILK FLOUR AND WATER Colloidal solution scatters hghf

THE TYNDALL EFFECT

Original Force F1 = P1 x A1 Output Force F2 = P2 x A2
Same as original force

$ *

- The pressure applied in a fluid at rest is
seen at all points if they are at same

Plunger 1 Plunger 2 helgh t
A1 (Area) A2 (Area)
Equal to A1
Pressure Pressure #Pascal is Sl unit of Pressure
F2
=F1 p2=—=
P1 A1l Pascal’s Principle A2

Pressure equal throughout. Therefore P1 = P2

Fig 1: Diagram showing Pascal’s Law applied to two equal
plunger/piston sizes
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" Which of the following is the autobiography of the fi Id'P'dﬁD‘R‘d
pra;!;d;) the fol lowing is the autol iograp| of the first Indian Preside r. Rajen ;] ARMA
frfafaa & ¥ st @ v sl wseaf =8, Wiy e Y sreAnUT §?
1. A Shot at History
\2/.My Country My Life
. Atmakatha
4. Atmavrittanta
1. gfagE W & doT
2. AW AU AW Naw
3. ATcHSYUT
4, W
Which of the is correct the demand curve?
@ I. It is a graphical representation of the demand function.
I1. It gives the q ity d ded by the at each price.
AT aw & FaU A RRRT A IS ara @
I ug RBATE G H1 mihder Rusieer &1
Il. 9§ TeAF P T ST G@RT A 78 AT T 1
1. Neither I nor Il
/'Bothland Il
3.0nlyll
4.0nly |
« Demand Curve: Consumer’s side —Affordability « Supply Curve: from producer’s side/profitability
Price
Price ‘Positive sloping curve
Rs 100 - negative sloping curve l
l /) b Rs100
Tomato price | Rs$ 50 1 : Relation between price and
I ST demand: Inverse R$50
Rs20 ] !
¢ ' ‘ Rs20
1kg 2kg Skg Quantity |
(7 Outward demanded .
+ t t
Only Rightward and Tomato kg 1kg 2kg Skg Supply
Ief“ﬂqud shift
Inward
e Things exists in equilibrium
« Equilibrium shifts if any one
of the factors shift
Rs 100 1
PR > Surplus
Deficit . e
Rs 50 A ———> Point of equilibrium
Rs 20 A

1kg 2kg

Skg



&

ARMA

@ Which among the following is the olde—st/st_qclg_e_xsrf_ng/e in India?
Frrafafla & F Sl 71 ST &1 Faw e Feis v §?

1.,Multi-Commodity Exchange
. Bombay Stock Exchange

3. National Stock Exchange/\
4. National Commodity and Derivatives Exchange 1992

Set up by: Premchand Roychand in 1875

1 During Which phase of the cell cycle does metabolic changes assemble the
cytoplasmic material required for mitosis and cytokinesis?

FIRIT T & R TX0T & SR TaTIad TRafe AT AR aEewEa i
¥ AT ITaeTs ArgeIcenioA® ATHI ) sHeq T &2

’(Gz phase 1. G2 TOT

; ; \ 4
Smphse  3wmTw G1- Growth
4.5 phase 4. TF =TT M phase :

S - DNA synthesis

G2 - Growth and
preparation for
mitosis

M - Mitosis

(cell division)

Alkali

~
1 Identify an anomaly element that belongs to both groﬁand group 17.

v Rarfer aea 1 ggEre 1S wHE 131N §Hg 17 A @ FEfa R

. Ni 1. AECISA
2 Chorne 2, et Hydrogen

.Can lose one e~to form cation

-Can gain one e~to form anion )
->(n coolant D,0 is used

H 2H ’H->Three isotopes: Hydrogen, Deuterium, Tritrium

Heavy water— Used in nuclear reactors —Forms a chain -Heavy water or

(0.0) reaction. To control Liguid sodium is used
this chain reaction in moderators
moderators are used

(slows down the

speed)

Control rods stop the chain
reaction (made of Barium)



— ~
Which element of the boron family has a high boiling point, making it ideal for
recording temperatures that would vaporise a thermometer?

IR IRAR & o dca &1 FaUIH 309 gidT §, S F& AA RS S & AT
3Teel FATAT § S gATHE Y ey FI I

1. Indium 1. §vdrm

2. Thallium 2. Ao

3. Aluminium 3. JregHferas

/Gallium 4. Iaw

~
1 In which year Timur’s invasion of Delhi took place?
— =

fereeft oR A i1 TsHAT R A gam A

V1308
2.1221
3.1492
4.1526

‘During Mahmud Shah Tuglag’s reign

+1739: invasion by Nadir Shah during Muhammad Shah Rangila

Whole city of Delhi was destroyed, looted,
plundered by his army

- He took away with him, the Peacock Throne
built by Shahjahan

* He also took the legendary Kohinoor diamond

- 326 BC: invasion by Alexander during Dhanananda’s reign

‘Battle of Hydaspes with Porus on the
banks of Jhelum river

-
Which of the following policy measures is a step towards liberalisation?

frrafaf@a & ¥ st a1 ifera surg seilisor # R & ww Fea d?

nhancing tariffs

%Iiminating licenses for importing a majority,of goods
3. Increasing requirements for bank reserves and restrictions on interest rates
4. Imposing limits on capital accumulation

1. 3R agrem

. mnrmmtmtﬁvmm

3. 3 $ZR Fr Tgeh AEVTFATE AR 4T & W Aferaer
4. 3 F O AT Ay

~

Expenditure of the government on health facilities, education and fixed-asset
acquisition is termed as

Fareey gfaemsit, mmmmnﬁmEme*maﬂ
FEroTar gl

1. revenue expenditure 1. o =97

2. non-plan revenue expenditure 2. R-ASarE T =T
apital expenditure 3. goftra =
. plan expenditure 4. =T

Tlectricity, education, infrastructure

*

ARMA



According to Census of India 2011, identify the third largest spoken language in
ndia.

HRA A S 2011 &

, 9Ra A Hud wad qf A I=
arelY smeT Y ggE H

\{Marathi 1. AWS

2. Tamil 2. afaar
3. Bengali 3. el
4. Hindi 4, R

-1st: Hindi (43.63%)
*2nd: Bengali (8.03%)
* 3rd: Marathi (6.86%)
*4th: Telugu

~
UN has declared 2024 as the International Year of

HYFT ST A 2024 FY i a¥ e frar g

1 Millets——> 2023
\;./élamelids

3. Leopard

4. Artificial Intelligenc

- 89th CA, 2003: established a separate body for NCST (National Commission for Scheduled Tribes)
Under Art 338A

Replaced National Commission of Scheduled Castes and
Scheduled Tribes by amending Art 338 into:

- National Commission for Scheduled Castes (NCSC)

- National Commission for Scheduled Tribes (NCST)

-102 CA, 2018: National Commission for Backward
Classes (NCBC) Art 338B

-Hydra is an example for: Coelenterata
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